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Which number is located inside the triangle, the square and the circle?
Molog aplBuog BplokeTal péoa oTo TPlywvo, 0TO TETPAYWVO KAl 0TOV KUKAO;

(A)1 (B) 4 (rs (a)9 (E) 12

Some shapes are printed on 2 pieces of glass. Anna places one on top of the other, without turning either
piece. What does she see?

Karmola oxrpota eival TUMwHEVa o€ 2 KOPATLa amo yuaAl. H Avva Balel To £va oxuo TTavw oTto AANo, Xwplg
va yupilel To kaBe koppartL. Ti PAENEL
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The picture shows 4 strange shapes. How many shapes have 3 dots inside?
H ewkdva deiyvel 4 mepiepya oxnpata. Néoa oxnoto UTIAPXOUV HE 3

KOKKIOEC Héoa;
(A)O (B) 1 (r2

(4)3 (E) 4

Kevin the kangaroo puts a picture on the table. He rotates the picture through a quarter turn, as shown. He
then does the same rotation again. What does Kevin see now?

O KEBwv to Kaykoupd Balel pia elkova avw oto tpanéll. Kabes dopd yupilel TN elkdva KATd pLo TETOPTO
otpodn, onwg daivetat. Emavohappavel to ido Eava. TL BAEmeL twpa o KEPLY;
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5. Inthe picture, there are 8 different faces. Each face appears twice, except for one. Which face appears only

once?
Jtnv elkOva uTtapyouv 8 dlapopeTika Mpocwra. Kabe mpoowro epdaviletal SUo ¢popEg, ektoc and £va. Molo
npoowro gudaviletal povo pia dopad;

D& S ®
& B SO ©
0 &6 &

(A) q‘!ib (B) CE§%5 (N dfffﬁ) (A)(fﬁés (E)(i::ji

6. Bruno is making this large triangle using identical small triangular tiles.
How many more small triangular tiles does Bruno need to complete the large triangle?
O MrmpoUvo PpTLaxVEL EVa LEYAAO TPLYWVO XPNOLUOTIOLWVTOG TIAVOUOLOTUTIA LLKPQL
Tplywvakia. Mooa akOpa ULKPA TPLYWVAKLO XPELATETAL VLA VO CUUTTANPWOEL TO LEYAAO
Tplywvo;
(A)3 (B) 4 (Nns ()6 (E)7

7. Each number below is made using a piece of ribbon. Which piece of ribbon is the longest?
KaBe aplOuog mou daivetal mio KATw £XeL GTLOKTEL pUe EVa KOUUATL KOPSENAC. MO0 KOUATL Eival To TILo
HoKpU;

(A)1 (B)2 (ns ()6
(E) They are all the same length. / Exouv 6Aa to i8to péyebocg.

HEAeva XpnoLlUoTOoLEL pia oTapma yia va GTiael pia elkova. Mota elkova GTLAXVEL

(N (4) (E)

8. Elena uses the stamp shown to make a picture. Which picture does she make? Gt
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9. A student has 4 blocks, as shown. Which of the following shapes cannot be made using these 4 blocks?
‘Evag padntng £xet 4 touPAa, 6mwe paivetal. Moto amd Ta mo KAatw oxnuota dev pnopsi va dptiaget pe ta 4
TOUBAQ;

N\iNis NG

(®) @ (®) % (N @ ®) @ @ @

10. Chris has 5 baskets, each containing 4 toys. He dropped 4 of the baskets and the toys were mixed up.
O Xplotog €xel 5 kaAaBla kal to KABe eva €xeL 4 malyvidla. Tou énecav 4 and ta KoAABLa Kal Ta moyvidio
£XOoUV avopeLyBel.

Which basket did he not drop?
Moo KaAABL Sev Tou €XeL MECEL;
(A)A (B)B (nc (8) D (E)E

11. In the following diagram, each shape represents a different value. Whatis the value of * ?

2TO TILO KATW SLAYpOppa, KABE oXAUA AVTUTPOCWIEVEL Uiat Tun. Mota eivat n T tou * ;
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(A) 2 (B)3 (4 (8)5 (E) 6
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12. Catrina wants to walk through the maze so that she visits only rooms where the answer to the sumis 7.
H Katepiva BéAeL va neprniatriost otov AaBUpLvBo Kal va PmeL povo o Swudtia 0mou to dbpolopa ival 7.
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Which object can Catrina reach?
Y€ ToLo avtlkeipevo pmopel va ptaoel n Katepiva;

J © J B @
(A) (B) (N (4) (E)

_'
13. Atoy pony is inside a box that is 1 metre tall, 1 metre wide and 2 metres long. E —
A ribbon goes around the box, as shown. The knot uses an extra 1 metre of ribbon. X

How long is the ribbon in total? M m-

‘Eva rtayvidL movu Bpioketal péoa o€ £va KouTi tou €xeL UPog 1 pétpo, mAdartog 1

METPO Kall UNKOC 2 YETPAL.

Mia kopdEAa eEPVAEL YUPW QIO TO KOUTL, OTtwG daivetal. Ma Tov KOUMOo XpnoLUOoTOoLEL eTumAéov 1 pETpo
KopdéAag. Mooo unKog €xeL n KOpSEANA GUVOALKA;

(A) 9 metres /9 pétpa (B) 11 metres / 11 pétpa (F) 13 metres / 13 pétpa
(A) 15 metres / 15 pétpa (E) 17 metres / 17 pétpa

14. The sum of the numbers in the triangle should be twice the sum of the
numbers in the circle. What number must replace the question mark ?
To aBpolopa Twv aplOpwy PECO 0TO TPLywVo TIPETEL va elval SU0 dopég To
aBpolopa Twv aplBuwv otov KUKAO. Molog aplBud MPEMEL VA AVTIKATAOTIOEL )
10 cUpBOANO ?; )

(A)3 (B) 5 (r s (A) 11 (E) 16
15. Aline of pictures is made by repeating this pattern of 5 pictures = @i{ “ 0 always in the same order.

Mia ypoppr amno elkoveg eival ¢Tlaypévn LLE TO HOTIRO AUTWY TWV 5 EKOVWY ke ﬁ « O
Tavta Ye tnv (6l oelpa.

2reddes (oS ddd
Which picture is in the 27th position in the line? Mola eikdéva Oa Bpioketal otn 27" O£on otn ypaUUn;
® - ¢ 0
(A) (B) (r) (8) (E)

)
)



16.

17.

18.

19.

‘Evag amo Toug aplBuolc otny lKOVA LooUTAL LE TO ABpoLlopa TwV apLlOpwyY Tou
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One of the numbers in the picture is equal to the sum of the numbers connected
directly to it. Which number is this?

ouvbéovral aneuBeiag pe autov. Nolog aplBudc sival,

(A)3 (B)5 (ry7z (a) 10 (E) 12

Chiara has a transparent box containing 6 small cubes, as shown.
What does Chiara see if she looks at the box from above?

H Xapad €xel éva Sladavo KoUTL To omolo MePLEXEL 6 LLKpOUC KUBOoUC, OWG
daivetat. TL BALMEL N Xapd, av KOLTAEEL TO KOUTL oo mavw;

el

(A) (B) (N (4) (E)

Stephan wants to pick two numbers from the board and add them

together. How many different results could Stephan get?

O Itédavog Béhel va SlahéEel U0 aplBoUC Ao Tov TivaKa KoL Vo TOUG 1 2 3
npooBéoel. Nooa SladopeTIkA amoteAéopaTa UMopel va MAPEL; 4 5
(A)S  (B)6 (N7 (4)8 (E)10 (o)

Which two pieces can be used to complete the grid without overlapping?
Mota U0 KOUUATL PItopoUV va XxpnotomnotnBouy yla v cUUIANpwBOEel n mAdka xwplig va umtapxel
€TUKAAUYN;

|
1 2 3 4
| |
(A)land2 /1 ko2 (B)land3/1kaL3 (N3and4/3 ka4
(N2and4/2 ka4 (E)2and3/2kaL3



20. Andreas, Bella, George and Dimitry each have 3 shapes. Each child has exactly one shape in common with every

21. Zoe builds towers from three types of blocks. The heights of three of them are shown in the picture. What is

22.
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other child.

O Avtpéag, n MméMAa, o Mwpyog Katl o AnUATENG €xouv amod 3 oxnpata. Kabe maldi éxel akplPwg éva oxnua

KOLVO UE To AAAO.

Andreas / Avtpéag A O
Bella / MmtéN\a @ ‘ﬁ?
George / Mwpyog f}l & <>

Which shapes does Dimitry have?
Mola oxAuata €xeL o AnUATPNG;

Q00 KA

( (E)

the height of the fourth tower?

H Zwn ktilel mUpyoug pe 3 €idn and touPAa. To UPog Twv TpLwV MUPYwV daivetal otnv lkdva. Molo eival to

U og Tou TETapTou MUPYOoU;

k) !
:I I: 20 t
;.' y 1 5 "\,\ ) : .2 J

(A) 12 (B) 13 (r) 14 (A) 16 (E) 17

Georgia wants to move through the grid from A to B. She can only move to the right

O00 ooA %00

or upwards. Each time she visits a grey box, she has to pay 1 euro. Each time she

visits a white box, she has to pay 2 euros. How much would she pay for the cheapest
path?

H lewpyia B€AeL va petakivnBei amod to A oto B. Mmopei va kivnBei povo mpog

6efLd | mpog ta mavw. Kabe dopd mou TepVA amod YKPL{o KOUTAKLA, TIPETEL VaL [
MANpwvel éva gupw. KaBe dopd mou mepvd amod ACTPO KOUTAKL, TPEMEL VA
TANpwVveL 2 eupw. MNdéoa Ba MANPWOEL yLa to 1o $Onvo Lovomart,

(A) 11 euros / 11 evpw (B) 12 euros / 12 supw (r) 13 euros / 13 eupw

(A) 15 euros / 15 supw (E) 16 euros / 16 supw
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23. Julia has a list of problems to finish during May. She starts on the 1st of May. MAY 2024
If she solves exactly 2 problems each day, she will finish the task on a Sunday. Mon Tue ‘”.i“ T&” ; ;a: Sg'

24.

If she solves exactly 3 problems each day, she will finish the task on a
Wednesday. How many problems are on the list?

67 8 910N12
BMXAIS16171819
20 21 22 23 24 2526
27 28 29 30 31

MAIOz 2024
H TToUALa €xel pio Alota anod mpoPAnpata va AUoeL evtog Malou. | AEYT | TP | TET | NEM | MAP | 3AB | KYP
ApxileL tnv 1" Maiou. 1 2 3 4 5

Eav AUvel akplBwce 2 mpofAnuata tnv nuépa, Ba ta tedelwoel OAa 6 7| 8 9 1o n 12

nuépa Kupakh. Edv AOvet akptBwe 3 mpoPAfpata kdOe nuépa, 6o | 13 |14 | 15 | 16 | 17 | 18 | 19

To TEAELWOEL OAa NUépa Tetdptn. Ndoa mpoPAfpata Bpiokovtatotn | 20 | 21 | 22 | 23 | 24 | 25 | 26

Aoto: 27 (28|29 | 30 | 3

(A) 6 (B) 12 (r) 18 (b) 24 (E) 30

Andrew was throwing darts at a target. He started with 10 darts and got 2 new darts each time he

hit the target. In total, Andrew threw 20 darts and then had no darts left. How many times did
Andrew hit the target?

O Avrtpeag €piyve BeAdkio o €vav otoxo. =ekivnoe pe 10 Behakia kot €matpve 2 véa BeAdkia KAOe
dopa mou £RPLOKE TOV OTOXO0. JUVOALIKA, 0 Avtpeag £ptée 20 BeAAGKLO KL OTN CUVEXELD SEV TOU EUELVE
kavéva Behakt. Mooeg dpopEc Bprike Tov oTOX0 0 AvTpéag;

(A) 4 (B) 5 (rye (A)8 (E) 10



